
KA57 // KA57 // SWEEP ARMSWEEP ARM

DECORATIVE ARM

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

The King Luminaire KA57 Sweep Arm is a 
decorative arm with a minimalist design. 
Available in side, tenon, or wall mount with 
single, double, or triple arm configurations, 
the KA57 provides is a versatile solution for 
any situation.

ARM SPECIFICATIONSARM SPECIFICATIONS

08-05-2021

MOUNTING TYPES:MATERIAL:
Aluminum

MOUNTING TYPE:
Side
Tenon
Wall

ARM QUANTITY:
Single
Double
Triple

ARM DIMENSIONS:
29 3/8”L x 28”H

FINISH:
Available in textured 
or smooth.

EPA
1.54 - 3.80 sq. ft.

WEIGHT
26 - 74 lbs

Tenon Mount Details 
TO ACCEPT 2 7/8” DIAMETER  

X 6”L TENON

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

HOW TO ORDERHOW TO ORDER

KA57

ARM 
STYLE
KA57

# OF ARMS

1  - Single
2 - Double
3 - Triple

LENGTH

- -

MOUNTING
TYPE
S - Side
T - Tenon
W - Wall

-

MATERIAL
A - Aluminum

-A

XX

*only available in 
standard length

XX

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

LUMINAIRE 
MOUNTING DETAIL:

Catalog 
Number

Mount 
Type

# of 
Arms

EPA  
(sq ft)

Wt.  
(lbs)

KA57-A-S-1-XX Side 1 1.54 28

KA57-A-S-2-XX Side 2 3.08 56

KA57-A-T-1-XX Tenon 1 1.54 29

KA57-A-T-2-XX Tenon 2 2.80 52

KA57-A-T-3-XX Tenon 3 3.80 74

KA57-A-W-1-XX Wall 1 1.54 26

EPA & WEIGHTEPA & WEIGHT

Side/Wall Mount Details 
4” x 1 3/4” x 20”L

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"



CONFIGURATION OPTIONSCONFIGURATION OPTIONS

www.scgrp.com

KA57 DECORATIVE ARM

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

Side Mount Single Arm

Tenon Mount Single Arm

Side Mount Double Arm

Tenon Mount Double Arm

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

Wall Mount Single Arm

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"

Tenon Mount Triple Arm

Luminaire Mounting Detail

B

B
1 1/4" NPT
EXT. THREAD

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

SEE LUMINAIRE
MOUNT DETAIL

B

B
1 1/4" NPT
EXT. THREAD

SEE LUMINAIRE 
MOUNT DETAIL

(3) 3/8"-16 SET SCREW 
x 1 1/4" LONG

KPL10 NIPPLE

(2) 3/8"-16 SET SCREW 
x 3/8" LONG

(6) 3/8"-16 SET SCREW 
x 1/2" LONG

3/8"-16 SET SCREW 
x 1/2" LONG

SECTION B-B

3 1/2" IPS (4" O.D.) PIPE 
x 11 1/8"L

3" IPS (3 1/2" O.D.) PIPE
x 6"L

1 1/4"Ø WIRING HOLE

TO ACCEPT 2 7/8" O.D
x 6" LONG TENON

B

B 1 1/4" NPT
EXT. THREAD

REFERENCE POLE

REFERENCE WALL

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

SEE LUMINAIRE
MOUNT DETAIL

VIEW B-B

1 1/2"L SLOT
3/4" x

ACCESS HOLE
1 1/4" Ø WIRE

3/4" Ø KEYHOLE

4" x 1/4"THK. FLATBAR
x 1 3/4" L

4" x 1/4"THK. FLATBAR
x 1 3/4" L

TOP VIEW

TOP VIEW

29 3/8"

22 3/8"

20"

10"

4"

4 1/2"

28"

8 1/8"
11 1/8"

29 3/8"

22 3/8"

20"

10"

4"

20"

10"

4"

8 1/8"
11 1/8" KPL10 NIPPLE

TOP VIEW

29 3/8"

28"


